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o = 1618 FE0B X D4R FvF%5] :1,1,2,35,8,13,21,34,55,89,144,--

o = 0.618 LEFI XY 2 Hh %5 :1,3,4,711,18,29,47,76,123,189,---

J5 = 2.236 Oxp=1 P+¢p=y ¢ O-¢=1
<BHE>
O+ ¢ J5[ 4571 OT1—0¢ 1 10 - "1 1
P 24+ ¢ "2 3 1 3
O3+ 973 447 572 ¢ 3—¢p"3 20+1 - ¢”3 4
P44+ ¢4 7 3 7
®°54+¢ "5 1118 | 4575 ®P5—¢p5 50+3- ®°5 1
P64+ 076 18 8 18
O 7+ "7 29.06 | 4 5713 P T—0¢"7 1304+8- @77 29
®"84+¢"8 47 21 47
® 94+ ¢ 9 76.01 | V5734 P 9—0 9 34D+21- ¢79 76
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®"0 1 1 E HE

d"1 10 1.618 d 1 b "1 0.618 = 2.236 1.000 1
b 2 10 +1 2618 d -2 b2 0.3819 = 3.000 2.236 3
®"3 20 +1 4.236 ® -3 ¢”3 0.2360 = 4472 4,000 4
b4 30 +2 6.854 d -4 b"4 0.1459 = 7.000 6.708 7
d°5 50 +3 11.09 ® -5 ¢°5 0.0901 = 11.180 | 11.000 1
d"6 8D +5 17.944 | TSR d -6 ¢°6 0.0557 = 18.000 | 17.888 18
d"7 130 +8 29.034 . ® -7 "7 0.0344 = 29.068 | 29.000 29
d°8 210+13 46978 | YA F AR | d~-8 ¢”8 0.0213 = 46.999 | 46.957 47
® 9 340+21  76.012 d -9 ® "9 0.0131 = 76.025 |  75.999 76
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